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BB E (ngh) 10 <1-12 1.0 =
MY EE (mel) 2000 730 - 1300 884 =
MAYIHEE (mgh) 10 <0.5-84 1.4 poss
AMLYHEE (mg/) 0.1 <0.04 - 0.05 0.04 yi=s
BEEBERE (ng/) 100 <15-20 15.4 =
HAE  (mg/h) 20 <15-18 15.3 =
m#EE  (mg) 0.5 <0.3 <0.3 y=s
BGE&EMAE (ng)) 1 <0.6 - 0.63 0.6 =
FHHEIGEER (mgl) 15 <5 <5 =
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B (mg/) 2 <0.4 <0.4 =
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$% (mg/) 0.1 0.1 <0.1 2
§& (mg/) 1 <0.3-0.86 0.4 =
1 (mg/) 2 <0.5-1.6 0.6 =
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% (mg/) 5 <1 <1 =
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BB

Aldrin (mg/) 0.01 <0.01 <0.01 - E

BHCS (mg/) 0.01 <0.01 <0.01 )=

AXZEE (mgh) 0.01 <0.01 <0.01 yss

LEBELSE

Yy -

I (mgh 0.1 <0.1 <0.1 =

EHREALEY

1,1,1- =& 487 =

(mg/) 0.05 <0.03 <0.05

HZRBE

LR ERE =

(mg/h) 0.003 <0.003 <0.003

BEEE -

B BEWE & s

(pc/D) 10000 <10000 <10000

% -226 (pc/l) 30 <30 <30 yits

#8-90 (pc/l) 100 <100 <100 o
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HESBE_HE) .

# (mg/m’) 10 <0.005 2
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7K (ppm) 0.1 <0.02 - 0.045 0.02 i
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#1 (ppm) - <0.5-4.2 1.4 -
# (ppm) - <0.5-4.9 0.7 -
# (ppm) - <1-6.8 1.3 -
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